k2 BER_BUSFHKEAR (F13 » A 2SR ONE 42 MR 030% 2 X TRFHLSHE

1 FEXY 2 JLUE%E 3 xtGpt
(1) #FlaoF oA |MENLELEDT-HE IR PRI AR D R
Jb A JBEGUIE X 3R 2

[ EBR%E] ekl W R OSSA 4, TRIAE T

« 3 PR HlE R Rk
OVl -3 1
S IR B O Jp R E R EHT S 1 4 42 9 H
0HFTEXNBLT D,
« BRIBIS A O N5 IR e Rk

ICU  1JR¥7= 211,000, H
HCU 1 K729 148, 000/, H
EFELMSE O R

1 K729 36,0001, H

* ARIEFRR ORI (BIGRR 1R

H2V 2KET (I CU - HCURKE
IZ4AKRET) )
ICU  1ERY%7=Y 211,000, H
HCU 1 BRX47= 1 148, 0001/ H
PEERIA  1HE%7Z9 11,000,/ A
RS DIFEER

1 K% 7= v 36,000, A

@ DA FENTRD L FH
* BRI R D I R HE DR

ICUN DR & HelR T D56
1 K% 7= 168,000, H
R RE IIHPEERE A2 T A
N, BeFERGEROERE=%1 7
7o ENATREIRIRIR B WE R T D G
1KY 7= 929,000 H
EERUSNDOEE
1KY~ v 11,000, H

* ARIEFRR O R TECRAEL (BIGRR 1R

H2V 2KET (I CU - HCURKE
IZ4AEET) )
ICUN DR & HelR T D56
1 K% 7= 968,000, H
R RE IIHPEERE A2 T A
. BERGELONKE=21) 7
7o ENATREIRIRIR B WE R T D G
1KY 7= 929,000 H
PEERIA 1 HRY7Z0 11,000, A
EERUSNDOEE
1KY 7= 911,000, A
MRl oo J U A L ARIYERE D
ANIRFR A& T B T, B ORI
ROBEIREE &2 LT BB S, Hh
Sl oo A L A RYLE RE A
ZITANDHKE LTEIDETER
TIEBIRIRICOW T, —iRIRR &
B2 LT, RIEREI O SR &9
5 (B EREIZ LR ERT)




1 FEXY 2 JLUE%E 3 <Gt
(2) FilaoF oA [HMESLIEL RO Zitkl, B RO 4. IR
Jb A SR E B L R ey
RE 1A%t 4 fv = 2 [ ErR%E]
DF M E RS T & 2 K e B RE I e 2
- TP IR O s PR e At

ICU 1 JR¥7= 1 305,0001, H
HCU 1 K729 148,000/, H
ERELS DR

1 K% 72 9 52,0001, H

< PRIER R REetRRE (BUSR 1R H
t@zﬁif(lcu HCUJRKIL 4
KET) )
ICU 1 ERY7= 9305, 000/, H
HCU 1 BRX47= 1 148,000 H
PEEIRIK  1IR%S7=Y 11, 000M, H
RS DIFR

1KY 7- 952,000,/ H

SRR EREREIS RS & 1T, B E RS & Y
e RERETS B & RIARE I an v A
NVAEEDERERE ZZ ATV D
EPEREEE & 95, REERRRERL & [RIFEE
W o a7 A L A JRYLE O B R
BT AN TN D RPN, BIRMI
L. B 244 AL, (R AR
THRC X D16 Z1T 9 BEDES 3 ALL
oA TN TR SR X DIREETT O
%ﬁﬁ@&mkuiwﬂﬁ%éﬁﬁﬁ%
L35,

Q@HESIEHEHBETH D — Wbt
« FEAEN 9P IR O I IR e ARk
ICU  1R%7-v 211,000, H
HCU 1 JK¥%47-9 148, 0009, H
eV CINDYTEIZS
1KY 7- 950,000, B

RN S Rt RE (BSRR 1R H
t@zﬁif(lcu HCUJRKIL 4
KET) )
ICU  1ERY%7=v 211,000, H
HCU 1 BRX47= 1 148,000 H
PEEIRIK  1IR%M7=Y11,000M, H
RS DIFER

1 K4 7= v 50,000/ H




